Copy for: Mayor, Council, and Staff For the Record

June 14th 2004

Jour Clerk's Copy Asenda # 2.1 6-14-04

Airport Road Business Owners

Estimated Address Change Cost

I, a business owner (operator) on Airport Road do solicit the Chapel Hill Town Council to not burden me with this unnecessary cost. I would support the memorial dedication that has been suggested in a proposed recommendation with noticeable and eye pleasing markings along Airport Road & Columbia Streets and leaving the mailing address unchanged.

Signed,

Date: 6-8-04

Name The Medical Foundation of NC, Inc. Address 880 Airport Road, Chapel Hill, NC 27514-2600

•	Example_	Your Costs
Change of Address announcements	(0.500 0.600 0.500)	+1 C 25 00
Printed Cards & Envelopes	(2500 @ 1.00 = \$2500.)	<u>\$65.00</u>
Postage	(2500 @ .37 = \$875.)	@ \$7920.00
Labor to address - 1 Minute per Unit	(42 hr. @ \$38 = \$1600.)	<u> </u>
Unexpired telephone ads		
Bellsouth	(6 mo @ \$99 = \$594.)	
Talking Phone Book	_	
University Book		
Stationary Change (templates)	(estimate = \$1000.)	templates only \$40,00
Letterhead	replace stock	\$ 2.800.00
Window Envelopes	repeace sisse	
Letterhead Envelopes		
Business Cards	(5 persons @ \$35 = \$175.)	\$ 585
Rubber Stamps	(10 @ \$20 = \$200.)	\$ 100
UPS Mailer	(estimate = \$50.)	
Printed Checks & Deposit tickets		
(including clients)	(estimate = \$300.)	
Labor re change (ie)	(25 hrs @ \$38 = \$950.)	
Licensing agreements	(23 113 @ 430 - 4300.)	
Insurance contracts		
Maintenance contracts		
Published professional contracts		
Professional License		
**		
Road Signage		
Maps - Brochures (w Envelopes a 1	ntent Cards)	₫ 7,500,00
Map of Chapel Hill & Ad (Loss)		
	(estimate = \$400.)	
Advertising ie:		
Pens		
Decals/Forms	•	
Other Website Correc	hous	±100,00
Other Website Correct Articles of Inc 150	(2X3) chances	±250,∞
Articles of the 190	((EX)) Charges	
, .,		
Total Cost	(F21 - 2
TOTAL COST	(estimate = \$8644.)	<u>\$31,129.00</u>

I, a business owner (operator) on Airport Road do solicit the Chapel Hill Town Council to not burden me with this unnecessary cost. I would support the memorial dedication that has been suggested in a proposed recommendation with noticeable and eye pleasing markings along Airport Road & Columbia Streets and leaving the mailing address unchanged.

Signed,

Date: 10-10-04

Name William D. Sulik, DDS, MS Address 920 Airport Rd

. Change of Address announcements	Example	Your Costs
Printed Cards & Envelopes Postage Labor to address - 1 Minute per Unit	(2500 @ 1.00 = \$2500. (2500 @ .37 = \$875. (42 hr. @ \$38 = \$1600.	(3000@ 379 = PILLO)
Unexpired telephone ads Bellsouth Talking Phone Book University Book	(6 mo @ \$99 = \$594.	\$ 5664/year \$ 2904/year
Stationary Change (templates) Letterhead Window Envelopes Custom res Letterhead Envelopes Custom Folders Business Cards	J)
	(5 persons @ \$35 = \$17	$\frac{(1000 \times 334 = 330)}{}$
Rubber Stamps	(10 @ \$20 = \$200.	(10\$20 = \$20)
UPS Mailer	(estimate = \$50.	(~ \$50)
Printed Checks & Deposit tickets (including clients)	(estimate = \$300.) (2 \$300)
Labor re change (ie) Licensing agreements Insurance contracts Maintenance contracts Published professional contracts Professional License	(25 hrs @ \$38 = \$950.) (~ \$950)
Road Signage		
Maps - Brochures		(2000 @ 50¢ = \$1000)
Map of Chapel Hill & Ad (Loss)	(estimate = \$400.	
Advertising ie: Pens Decals/Forms		
Other		
Total Cost	(estimate = \$8644.	\$20,808.00

I, a business owner (operator) on Airport Road do solicit the Chapel Hill Town Council to not burden me with this unnecessary cost. I would support the memorial dedication that has been suggested in a proposed recommendation with noticeable and eye pleasing markings along Airport Road & Columbia Streets and leaving the mailing address unchanged.

Signed,

Date:

Name Kathy Davie: Address 900 Airport Rd	S Chapel Hill		2)
•	Example		Your Costs Loss #1300
Change of Address announcements	Example		م الله
Printed Cards & Envelopes	(2500 @ 1.00 = \$2500.)	1000 @ 1.00 = \$1000
Postage	(2500 @ .37 = \$875.)	1000 (0.3) = 3/0.00
Labor to address - 1 Minute per Unit	(42 hr. @ \$38 = \$1600.)	10/10. @ 34/hg= 340,00
Unexpired telephone ads			
Bellsouth	(6 mo @ \$99 = \$594.)	100/mo. = 600
Talking Phone Book		,	
University Book			
Stationary Change (townslates)	/		
Stationary Change (templates) Letterhead	(estimate = \$1000.)	New 1/200 -
Window Envelopes			New \$1200
Letterhead Envelopes			CARDS 1 300.
	•		1
Business Cards	(5 persons @ \$35 = \$17	75.)	APPAT & SO STOCK LOSO
Rubber Stamps	(10 @ \$20 = \$200.)	150 - New 150
•	(10 @ 420 4200.	,	163
UPS Mailer	(estimate = \$50.)	
Printed Checks & Deposit tickets			Stock Loss-300
(including clients)	(estimate = \$300.)	new 1000.00
Labor re change (ie) Licensing agreements	(25 hrs @ \$38 = \$950.)	10hm 734 340
Insurance contracts			
Maintenance contracts			
Published professional contracts			
Professional License			
Road Signage			\$1000 New
Maps - Brochures			Pation 10/20 X 34/4= 340
Map of Chapel Hill & Ad (Loss)	(estimate = \$400.)	
Advartising is:			
Advertising ie: Pens			
Decals/Forms			
Other			
Jane J.			41000
J			
Total Cost	/		# 2017
i otal Cost	(estimate = \$8644.)	7 8040
			1
,			

Should Daddpain & suffering

I, a business owner (operator) on Airport Road do solicit the Chapel Hill Town Council to not burden me with this unnecessary cost. I would support the memorial dedication that has been suggested in a proposed recommendation with noticeable and eye pleasing markings along Airport Road & Columbia Streets and leaving the mailing address unchanged.

Signed,

Date: 6/8/04

Name DAVID L. KRONNGER ,OD Address 910 HIR PORT RD CH

Change of Address announcements	Example		Tour Costs
Printed Cards & Envelopes Postage Labor to address - 1 Minute per Unit	(2500 @ 1.00 = \$2500. (2500 @ .37 = \$875. (42 hr. @ \$38 = \$1600.)	5000 petrol 5 (500
Unexpired telephone ads Bellsouth Talking Phone Book University Book	(6 mo @ \$99 = \$594.)	
Stationary Change (templates) Letterhead Window Envelopes Letterhead Envelopes	(estimate ≭ \$1000.	·)	1800
Business Cards	(5 persons @ \$35 = \$17	' 5.)	#100
Rubber Stamps	(10 @ \$20 = \$200.)	\$ 100
UPS Mailer	(estimate = \$50.)	
Printed Checks & Deposit tickets (including clients)	(estimate ⇒ \$ 300.)	A250
Labor re change (ie) Licensing agreements Insurance contracts Maintenance contracts Published professional contracts Professional License	(25 hrs @ \$38 = \$950. Many INSUK COMPANIES) LANCE	1750
Road Signage	LICENSES		, j
Maps - Brochures			<i>B</i> /000
Map of Chapel Hill & Ad (Loss)	(estimate = \$400.)	
Advertising ie: Pens Decals/Forms			
Other			
Total Cost	(estimate = \$8644.)	195W

I, a business owner (operator) on Airport Road do solicit the Chapel Hill Town Council to not burden me with this unnecessary cost. I would support the memorial dedication that has been suggested in a proposed recommendation with noticeable and eye pleasing markings along Airport Road & Columbia Streets and leaving the mailing address unchanged.

Signed,

Date: 6/9/04

Name Heademy Optical
Address 910 HIR PORT PD

·	Example	Your Costs
Change of Address announcements Printed Cards & Envelopes Postage Labor to address - 1 Minute per Unit	(2500 @ 1.00 = \$2500.) (2500 @ .37 = \$875.) (42 hr. @ \$38 = \$1600.)	3000 patients 4000
Unexpired telephone ads Bellsouth Talking Phone Book University Book	(6 mo @ \$99 = \$594.)	
Stationary Change (templates) Letterhead Window Envelopes Letterhead Envelopes	(estimate ⇒ \$1 000. ·)	
Business Cards	(5 persons @ \$35 = \$175.)	P100
Rubber Stamps	(10 @ \$20 = \$200.	P51
UPS Mailer	(estimate = \$50.)	
Printed Checks & Deposit tickets (including clients)	(estimate = \$300.)	<i>\$256</i>
Labor re change (ie) Licensing agreements Insurance contracts Maintenance contracts Published professional contracts Professional License	(25 hrs @ \$38 = \$950.)	#500
Road Signage		
Maps - Brochures		
Map of Chapel Hill & Ad (Loss)	(estimate = \$400.)	
Advertising ie: Pens Decals/Forms		
Other		
Total Cost	(estimate = \$8644.)	P4900

I, a business owner (operator) on Airport Road do solicit the Chapel Hill Town Council to not burden me with this unnecessary cost. I would support the memorial dedication that has been suggested in a proposed recommendation with noticeable and eye pleasing markings along Airport Road & Columbia Streets and leaving the mailing address unchanged.

Signed,

Charles Can

Date: 6/10/04

Name Sterles B. Corver Address 890 Airport Rd

Ohanna (Addana a a anna a an	Example		Your Costs
Change of Address announcements Printed Cards & Envelopes Postage Labor to address - 1 Minute per Unit	(2500 @ 1.00 = \$2500. (2500 @ .37 = \$875. (42 hr. @ \$38 = \$1600.)	250° 875 //600
Unexpired telephone ads Bellsouth Talking Phone Book	(6 mo @ \$99 = \$594.)	594
University Book			
Stationary Change (templates) Letterhead Window Envelopes Letterhead Envelopes	(estimate = \$1000.)	/000
Business Cards	(5 persons @ \$35 = \$17	75.)	
Rubber Stamps	(10 @ \$20 = \$200.)	200
UPS Mailer	(estimate = \$50.)	50
Printed Checks & Deposit tickets (including clients)	(estimate = \$300.)	3.0
Labor re change (ie) Licensing agreements Insurance contracts Maintenance contracts Published professional contracts Professional License	(25 hrs @ \$38 = \$950.)	955
Road Signage			
Maps - Brochures			
Map of Chapel Hill & Ad (Loss)	(estimate = \$400.)	400
Advertising ie: Pens Decals/Forms			
Other		-	
		-	
		-	
Total Cost	(estimate = \$8644.)	8,649
I was exce	ens le	-	

I was example that S. Can

عيوالة

I, a business owner (operator) on Airport Road do solicit the Chapel Hill Town Council to not burden me with this unnecessary cost. I would support the memorial dedication that has been suggested in a proposed recommendation with noticeable and eye pleasing markings along Airport Road & Columbia Streets and leaving the mailing address unchanged.

Signed,

Date: 6804

Name Chapel Hill 1	N.m. (o.	
Address 1229 Airport	- Road	
1.00.000		
•	Example_	Your Costs
Change of Address announcements	(0500 0 4 00 , \$0500)	
Printed Cards & Envelopes Postage	(2500 @ 1.00 = \$2500.) (2500 @ .37 = \$875.)	
Labor to address - 1 Minute per Unit	(42 hr. @ \$38 = \$1600.)	
	,	
Unexpired telephone ads		
Bellsouth	(6 mo @ \$99 = \$594.)	#700
Talking Phone Book University Book		
Simolony Book		
Stationary Change (templates)	(estimate = \$1000.)	
Letterhead		
Window Envelopes Letterhead Envelopes		
Lottomodo Emvolopes		
Business Cards	(5 persons @ \$35 = \$175.)	# 2 c o
Pubbos Storms	440.0.000 0000	
Rubber Stamps	(10 @ \$20 = \$200.	
UPS Mailer	(estimate = \$50.)	
	·	
Printed Checks & Deposit tickets (including clients)	(astimate = \$200	σ
(moduling chemis)	(estimate = \$300.)	# 20 S
Labor re change (ie)	(25 hrs @ \$38 = \$950.)	\$ 1000
Licensing agreements		
Insurancé contracts		
Maintenance contracts		
Published professional contracts Professional License		
. Total Elochic		
Road Signage		
Mana Brashum		
Maps - Brochures		
Map of Chapel Hill & Ad (Loss)	(estimate = \$400.)	
Advertising ie:		
Pens		
Decals/Forms		
Other	\subset	
Other Lost business Not being able us due to	-tran people	# /A N)>-
		7. 70,000
Not being able	to 1, ~ J	
is due to	autolated mass	
0) 244		
Total Cost	(estimate = \$8644.)	
· • • • • • • • • • • • • • • • • • • •	(estimate = \$8644.)	

I, a business owner (operator) on Airport Road do solicit the Chapel Hill Town Council to not burden me with this unnecessary cost. I would support the memorial dedication that has been suggested in a proposed recommendation with noticeable and eye pleasing markings along Airport Road & Columbia Streets and leaving the mailing address unchanged.

Signed	ι,			
			· ·	
_				
Date:_		 		

Name THAT COFFEE PLANE Address 1225 ARRANT ROAD

 Change of Address announcements	Example		Your Costs	
Printed Cards & Envelopes Postage Labor to address - 1 Minute per Unit	(2500 @ 1.00 = \$2500 (2500 @ .37 = \$875. (42 hr. @ \$38 = \$1600)	NONE	-
Unexpired telephone ads Bellsouth Talking Phone Book University Book	(6 mo @ \$99 = \$594.)	# 300	- - -
Stationary Change (templates) Letterhead Window Envelopes Letterhead Envelopes	(estimate = \$1000.)	# 100	- - - -
Business Cards	(5 persons @ \$35 = \$17	75.)	NINE	- -
Rubber Stamps	(10 @ \$20 = \$200.)	NONL	
UPS Mailer	(estimate = \$50.)	NONA	-
Printed Checks & Deposit tickets (including clients)	(estimate = \$300.)	\$100	•
Labor re change (ie) Licensing agreements Insurance contracts Maintenance contracts Published professional contracts Professional License	(25 hrs @ \$38 = \$950.) .	1 380	
Road Signage		-		
Maps - Brochures		-		
Map of Chapel Hill & Ad (Loss)	(estimate = \$400.) -		
Advertising ie: Pens Decals/Forms		- - -		
Other		- - - -	105T BYSINESS DYE TO OLD MOPS &- PHONE QUECTORIS	#10,000
Total Cost	(estimate = \$8644.)	# 19.80	

I, a business owner (operator) on Airport Road do solicit the Chapel Hill Town Council to not burden me with this unnecessary cost. I would support the memorial dedication that has been suggested in a proposed recommendation with noticeable and eye pleasing markings along Airport Road & Columbia Streets and leaving the mailing address unchanged.

Signea,	ı		
	···	 	
Date:			
Date		 	

Name DRy Jean WA	rehorse 1	U X
Name DRY Clear WA Address 1221 Airport	RD (T)	
Change of Address announcements Printed Cards & Envelopes Postage Labor to address - 1 Minute per Unit	Example (2500 @ 1.00 = \$2500.) (2500 @ .37 = \$875.) (42 hr. @ \$38 = \$1600.)	<u>Your Costs</u> <u>//00.00</u> <u>340.00</u>
Unexpired telephone ads Bellsouth Talking Phone Book University Book	(6 mo @ \$99 = \$594. /)	
Stationary Change (templates) Letterhead Window Envelopes Letterhead Envelopes	(estimate = \$1000.)	300.00
Business Cards	(5 persons @ \$35 = \$175.)	50.00
Rubber Stamps	(10 @ \$20 = \$200.)	10.00
UPS Mailer	(estimate = \$50.)	800. O
Printed Checks & Deposit tickets (including clients)	(estimate = \$300.)	200.00
Labor re change (ie) Licensing agreements Insurancé contracts Maintenance contracts Published professional contracts Professional License	(25 hrs @ \$38 = \$950.)	25.55
Road Signage		
Maps - Brochures		100.00
Map of Chapel Hill & Ad (Loss)	(estimate = \$400.)	A Company of the Comp
Advertising ie: Pens Decals/Forms		800.00
Other		
Total Cost	(estimate = \$8644)	3,725.00

I, a business owner (operator) on Airport Road do solicit the Chapel Hill Town Council to not burden me with this unnecessary cost. I would support the memorial dedication that has been suggested in a proposed recommendation with noticeable and eye pleasing markings along Airport Road & Columbia Streets and leaving the mailing address unchanged.

Signed,

Date: 6-10-04

Name Johnson Lagre
Address 201 Sirrort 90

•	Evample		Your Costs	
Change of Address announcements	Example		Tour Costs	
Printed Cards & Envelopes	(2500 @ 1.0 0 = \$ 2500	. 1	2 0M ==	
Postage	(2500 @ .37 = \$875.	· /	740 %	
Labor to address - 1 Minute per Unit	(42 hr. @ \$38 = \$1600	.)	800=	
The second of th	(42 III. @ 400 - 41000	. ,		
Unexpired telephone ads				
Bellsouth	(6 mo @ \$99 = \$594.)	102000	
Talking Phone Book	(5 1110 @ 400 400 11	,	11920-	
University Book			36400	
• • • • • • • • • • • • • • • • • • • •				
Stationary Change (templates)	(estimate = \$1000.)		
Letterhead	(33	,	·	
Window Envelopes				
Letterhead Envelopes				
==				
Business Cards	(5 persons @ \$35 = \$1	75)	95-	~
	(o poisoils @ 400 4:	,		
Rubber Stamps	(10 @ \$20 = \$200.)	40	
	(.0 @ 420 4200.	,		
UPS Mailer	(estimate = \$50.)		
	(commute = \$50.	,		
Printed Checks & Deposit tickets			2000-	
(including clients)	(estimate = \$300.	1		
(morating onema)	(estimate – \$300.)		
Labor re change (ie)	(25 hrs @ \$38 = \$950.	١		
Licensing agreements	(25 1115 @ \$50 - \$550.)		
Insurance contracts			- AW	
Maintenance contracts				
Published professional contracts				
Professional License = "				
r rolessional License 🖫				
Road Signage				
Nous Dignage				
Maps - Brochures				
aps D. Conta.co				
Map of Chapel Hill & Ad (Loss)	(astimate = \$400	,		
map or ornapor rim a Au (2033)	(estimate = \$400.)		
Advertising ie:				
Pens			1000	
Decals/Forms			100-	
Doddon onno				
Other				
		-		
		-		
		-	 	—
		-		
		-		
		-		
Total Cost	(notimete = 60044	_	5 20 10=	
i otal COSt	(estimate = \$8644.) _	2,371	
		_		

Estimated Loss of Profit DUE

to telephone ADS #2000 00-

I, a business owner (operator) on Airport Road do solicit the Chapel Hill Town Council to not burden me with this unnecessary cost. I would support the memorial dedication that has been suggested in a proposed recommendation with noticeable and eye pleasing markings along Airport Road & Columbia Streets and leaving the mailing address unchanged.

Signed,

Date: 6-10-04

Name BRUCE JOHNSON Acto Lich Address 7018 Airrort RA

Channe of Add	Example 1000	<u>Yo</u>	ur Costs
Change of Address announcements Printed Cards & Envelopes Postage	(2500 @ 1.00 = \$2500. (2500 @ .37 = \$875.)	1,000 00
Labor to address - 1 Minute per Unit	(42 hr. @ \$38 = \$1600.)	400-9-
Unexpired telephone ads Bellsouth Talking Phone Book University Book	(6 mo @ \$99 = \$594.)	910 9
Stationary Change (templates) Letterhead Window Envelopes Letterhead Envelopes	(estimate = \$1000.)	
Business Cards	(5 persons @ \$35 = \$17	7 5.)	3500
Rubber Stamps	(10 @ \$20 = \$200.)	φυ -
UPS Mailer	(estimate = \$50.)	
Printed Checks & Deposit tickets (including clients)	(estimate = \$300.)	200-
Labor re change (ie) Licensing agreements Insurance contracts Maintenance contracts Published professional contracts Professional License	(25 hrs @ \$38 = \$950.)	1000
Road Signage			
Maps - Brochures			
Map of Chapel Hill & Ad (Loss)	(estimate = \$400.)	
Advertising ie: Pens Decals/Forms			1300-
Other			, ,
Total Cost	(estimate = \$8644.)	#5083° <u>-</u>

FStimber Coss of Play Due to telephone ADS #3000-Not include in total

I, a business owner (operator) on Airport Road do solicit the Chapel Hill Town Council to not burden me with this unnecessary cost. I would support the memorial dedication that has been suggested in a proposed recommendation with noticeable and eye pleasing markings along Airport Road & Columbia Streets and leaving the mailing address unchanged.

Signed,

Date:

Name NORTHAMAN PACA AJ13
Address 6000 PARGERT ROAD

•	Example	Your Costs
Change of Address announcements Printed Cards & Envelopes Postage Labor to address - 1 Minute per Unit	(2500 @ 1.00 = \$2500. (2500 @ .37 = \$875. (42 hr. @ \$38 = \$1600.) (600 with losing)
Unexpired telephone ads Bellsouth Talking Phone Book University Book	(6 mo @ \$99 = \$594.	18600
Stationary Change (templates) Letterhead Window Envelopes Letterhead Envelopes	(estimate = \$1000.	A600
Business Cards	(5 persons @ \$35 = \$175	5.) 105,00
Rubber Stamps	(10 @ \$20 = \$200.	30.00
UPS Mailer	(estimate = \$50.)
Printed Checks & Deposit tickets (including clients)	(estimate = \$300.) 175.00
Labor re change (ie) Licensing agreements Insurance contracts Maintenance contracts Published professional contracts Professional License	(25 hrs @ \$38 = \$950.	400 20
Road Signage		1200
Maps - Brochures		4200
Map of Chapel Hill & Ad (Loss)	(estimate = \$400.)
Advertising ie: Pens Decals/Forms		
Other		
		<u> </u>
Total Cost	(estimate = \$8644.) 362h

R. A. Bugel

I, a business owner (operator) on Airport Road do solicit the Chapel Hill Town Council to not burden me with this unnecessary cost. I would support the memorial dedication that has been suggested in a proposed recommendation with noticeable and eye pleasing markings along Airport Road & Columbia Streets and leaving the mailing address unchanged.

Signed,

Date: 6/8/04

Name Richille Fox
Address 752 Airput Rd.

Change	Example		Your Costs
Change of Address announcements Printed Cards & Envelopes Postage Labor to address - 1 Minute per Unit	(2500 @ 1.00 = \$2500 (2500 @ .37 = \$875.)	11/500 1/500 1/555
	(42 hr. @ \$38 = \$1600	.)	8 1100
Unexpired telephone ads Bellsouth Talking Phone Book	(6 mo @ \$99 = \$594.)	4594
University Book / Graik directory			1339
Stationary Change (templates) Letterhead	(estimate = \$1000,)	5500
Window Envelopes Letterhead Envelopes		•	
Business Cards	(5 persons @ \$35 = \$17	75.) <u> </u>	\$150
Rubber Stamps	(10 @ \$20 = \$20 0.) _	140
UPS Mailer	(estimate = \$50.) _	
Printed Checks & Deposit tickets (including clients)	(estimate = \$300.	, -	8300
Labor re change (ie) Licensing agreements Insurance contracts Maintenance contracts Published professional contracts Professional License	(25 hrs @ \$38 = \$950.	, -	#760 = 30 NS 62 58
Road Signage		_	
Maps - Brochures			
Map of Chapel Hill & Ad (Loss)	(estimate = \$400.	,	5 400
Advertising ie: Pens Decals/Forms			
Other			
		_	
Total Cost	(estimate = \$8644.		7 77
 -	(Vonitions - \$0044).		11057301

I, a business owner (operator) on Airport Road do solicit the Chapel Hill Town Council to not burden me with this unnecessary cost. I would support the memorial dedication that has been suggested in a proposed recommendation with noticeable and eye pleasing markings along Airport Road & Columbia Streets and leaving the mailing address unchanged.

Signed

Date:

4.

Name	- Jim	my Morgan
Address	Run de Jima	Aleport Road

•	Example	Your Costs
Change of Address announcements Printed Cards & Envelopes Postage Labor to address - 1 Minute per Unit	(2500 @ 1.00 = \$2500.) (2500 @ .37 = \$875.) (42 hr. @ \$38 = \$1600.)	75.00 300.00 500.00
Unexpired telephone ads Bellsouth Talking Phone Book University Book	(6 mo @ \$99 = \$594.)	300,00
Stationary Change (templates) Letterhead Window Envelopes Letterhead Envelopes	(estimate = \$1000.)	2000
Business Cards	(5 persons @ \$35 = \$175.)	3500
Rubber Stamps	(10 @ \$20 = \$200.	20.00
UPS Mailer	(estimate = \$50.)	
Printed Checks & Deposit tickets (including clients)	(estimate = \$300.)	100,00
Labor re change (ie) Licensing agreements Insurance contracts Maintenance contracts Published professional contracts Professional License	(25 hrs @ \$38 = \$950.)	. 400.00
Road Signage		
Maps - Brochures		260.00
Map of Chapel Hill & Ad (Loss)	(estimate = \$400.)	
Advertising ie: Pens Decals/Forms		400.00
Other		
Total Cost	(estimate = \$8644.)	2580,00

I, a business owner (operator) on Airport Road do solicit the Chapel Hill Town Council to not burden me with this unnecessary cost. I would support the memorial dedication that has been suggested in a proposed recommendation with noticeable and eye pleasing markings along Airport Road & Columbia Streets and leaving the mailing address unchanged.

Signed,

Date: 6/10/04

Name Dunlap Lilley Properties Address 930 Airport Rd. Ste 106

•	Example_		Your Costs
Change of Address announcements Printed Cards & Envelopes Postage Labor to address - 1 Minute per Unit	(2500 @ 1.00 = \$2500. (2500 @ .37 = \$875. (42 hr. @ \$38 = \$1600.) .	# E14.00 \$ 1400.00
Unexpired telephone ads Bellsouth Talking Phone Book University Book	(6 mo @ \$99 = \$594.) -	•
Stationary Change (templates) Letterhead Window Envelopes Letterhead Envelopes	(estimate = \$1000.) -	
Business Cards	(5 persons @ \$35 = \$17	5.)	\$ 12C. "
Rubber Stamps	(10 @ \$20 = \$200.) _	\$ 200.°U
UPS Mailer	(estimate = \$50.) _	й 40.°°
Printed Checks & Deposit tickets (including clients)	(estimate = \$300.)	# 295.°°
Labor re change (ie) Licensing agreements Insurance contracts Maintenance contracts Published professional contracts Professional License	(25 hrs @ \$38 = \$950.)	20
Maps - Brochures			
Map of Chapel Hill & Ad (Loss)	(estimate = \$400.) _	
Advertising ie: Pens Decals/Forms Other			
		-	
Total Cost	(estimate = \$8644.) _	# 2,909.€

1

I, a business owner (operator) on Airport Road do solicit the Chapel Hill Town Council to not burden me with this unnecessary cost. I would support the memorial dedication that has been suggested in a proposed recommendation with noticeable and eye pleasing markings along Airport Road & Columbia Streets and leaving the mailing address unchanged.

Signed,

Porly Branch, Manager

Date: 6-8-04

Name Women's Birth & Wellness Center Address 930 Airport Road, Suite 202

Channe of Address amounts	Example		Your Costs
Change of Address announcements Printed Cards & Envelopes	(2500 @ 1.00 = \$2500.)	
Postage	(2500 @ .37 = \$875.	j	375.
Labor to address - 1 Minute per Unit	(42 hr. @ \$38 = \$1600.)	1000.
Unexpired telephone ads			
Bellsouth	(6 mo @ \$99 = \$594.)	600.
Talking Phone Book	. •	·	600.
University Book			375.
Stationary Change (templates)	(estimate = \$1000.)	
Letterhead	(estimate - \$1000.	,	.500,
Window Envelopes			0
Letterhead Envelopes			500.
Business Cards	(5 persons @ \$35 = \$17	75 \	175.
	(3 persons @ \$33 - \$17	J.)	
Rubber Stamps	(10 @ \$20 = \$200.)	100.
UPS Mailer	(estimate = \$50.)	0
Printed Checks & Deposit tickets			
(including clients)	(estimate = \$300.)	100.
Labor re change (ie)	(25 hrs @ \$38 = \$950.)	
Licensing agreements	(20 1110 @ 404 4000.	,	
Insurance contracts			250.
Maintenance contracts			
Published professional contracts			
Professional License 🕟 🔌			
Road Signage			0
Maps - Brochures			250.
			<u></u>
Map of Chapel Hill & Ad (Loss)	(estimate = \$400.)	
Advertising ie:			
Pens			
Decals/Forms			
Other			
Cities			
			A G
Total Cost	(estimate = \$8644.)	75925
	•	•	